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4000 X2 I ndf 52.08/ 42

IR T T R Mean 0.009655 + 0.1678
- 341.6 £143.2 C
3000 E- I ! 8 SdDev  1101+01187
C [ Underflow 0
— 7_
2000 r Overflow 0
L X2/ ndf 6.09/7
1000 6
o Constant 7.104 £ 1.570
5 - Mean -0.2340.176
[ Sigma 1,023+ 0.162
-1000 4
-2000 3k _
2_
1_
C_|||||| |||||I|| ||||||||

-8 -6 -4 -2 0 2 4 6 8

4479.0
2479.1]
4479.2
44793
4479.4]
4480.0
4480.1]
4480.2
4480.3
4481.0
24811
4481.2
4481.3
4481.4]
4482.0
2482.1]
44822
44823
4482.4]
4483.0
4483 1]
4483.2
44833
4483 4]
4484.0
44841
4484.2
44843
4485.0
44851
4485.2
4485.3
4485 4]
4486.0
24861
4486.2
4486.3
4486.4]
4487.0
2487.1]
4487.2
44873
4487.4]



8000

6000

4000

2000

-2000

-4000

-6000

-8000

-10000

~12000F

asym_us_dd.mean/ppb-reg_asym_us_dd.mean/ppb

slugé1: 1D Corr asym_us_dd.mean/ppb-reg_asym_us_dd.mean/ppb

Mean -580.3 = 663.7

10000

XA 2 Indfe:148793:82/42 o TR
D p0i5L22:4 403 -
. s
[ Undertow o
3 -
L Overtow o
5
2_ — — —— | S
5_
.
s
| [ 11 [ | o) I I NI 8 O ) O A Y A
odaumsodamoTdantodanstodansodaumodantodansodamns -10000 -5000 0 5000
0P000o0 o0 0dddddaNaAANNIRNNIIIITIIOVOROVVLOCLOooOonENNNS
NNENRKKN 00X 000X 0000000 R 0000 6o PR 0o oo
T Y¥IITI T T I IS S I S S S I S S S S SIS SIS IS SIS ISSISISISISSSISS S
T I T T T T I T T T T T T T T T T T T I I T T T ISIITITISIISITITISISISISITISS S



.rms/ppm

reg_asym_us_dd

slug61

A4
[oWAS17474
[AVA21474
T'/8v¥
0'/,8V¥
7’98y v
€987
[Acl1474
T'98v¥
0'98v¥
¥'S8vy
€98y
[Acis1474
T's8vy
[OR=t21474
[N 421474
(A% 144
Tv8vy
0'v8v¥
A 124
£'e8YY
c'esry
T'esyy
0'esyy
&4si24
[o4tind
cesry
X4:1474
[O)r4217474
%144
€18y
[AN%s1474
T'18v¥
0'18v¥
€'08vv
[A01474
T'08v¥
0'08v¥
V'6Lvy
€'6LVY
[A7A474
_|TeLvy
0'6Lv¥

_ | il _._._._...._._._...__

9 9 8
1



slug61: reg_asym_ds_avg.mean/ppb 1D pull distribution
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slug61: reg_asym_ds_dd.mean/ppb
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